Math201.10, Quiz #2, Term 171

Name: 3
Seluks
iD #: Serial #:

1. [2 points] Identify (name, vertex(ces), axis) and sketch the graph of
X =2y — 4y + 2% + 2,

2. B3 points] Find an equation for the plane through (1,2, 4) and
perpendicular to both planes X+2y+3z=4and 4x — 5y —z =6,

3. [4 points] Let f(x,y) = \/m__

a. Find and sketch the domain of f.

b. Find an equation for the level curve of f passing through (2,1).
3

o) " . - x°y
4. |2 points] Find the limit: (xyl)l_x;l%o o)m;_
Good luck,
Ibrahim Al-Rasasi
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Math201.20, Quiz #2, Term 171

Name: \ .
50 v hW‘S
1D #: Serial #:

1. [} points] Identify (name, vertex{ces), axis) and sketch the graph of
z2 -2 =x% 42y — 4y — 2x.

2. [3 points] Find parametric equations for the line of intersection of the
twoplanesx + 2y + 3z = 4 and 4x — 5y — z = 6.

. 1
3. [4 points] Let f(x,y) = TR
a. Find and sketch the domain of £,

b. Find an equation for and sketch the leve! curve of f passing
through (1,2).

rid 2
4. [2 points] Find the limit:  lim 222X —X7¥
o Y (xy)-(11)  1-Jxy

Good luck,

ibrahim Al-Rasasi
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